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Sample Paper – 2010

Class – IX

Subject – Maths   

Time : 3 hrs








M. Marks 80

General Instructions:

i. All questions are compulsory.

ii. The question paper consists of 30 questions divided  into four sections –  A, B, C and D. Section A contains 10 questions of 1 mark each, Section B is of 5 questions of 2 marks  each, Section C is of 10 questions of 3 marks each and  section D is of 5 questions of 6 marks each. 

iii. There is no overall choice. However, an internal choice has been provided in two questions of three marks each and two questions of six marks each.

SECTION A

1. Express 5/13 in decimal form.
2. The supplement of 75° is _________.

3. If p(x) = 3x3 + x2 – x –1, find p(–2)

4. In which quadrant (4,–3) lie?

5. Define Obtuse angle.

6. Give a solution for equation 3x + 7y = –9
7. Give example of two irrational numbers whose product is a rational number.

8. Every natural number is whole number. True or False.

9. Simplify 53/10 . 51/5
10. In (5,3) ordinate is __________.
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11. Find ∠ROS, if ∠POR + ∠SOQ = 87°.
12. Evaluate (–2x + z)3
13. Rationalise
3√2 + 2√3
 √2 – 3√3

14. Check whether 4t3 + 4t2– t – 1 is a multiple of 2t + 1.

15. In the figure ∠ACD=120° and ∠APB = 100°, Find ∠PA
SECTION C

16. Calculate without actual calculation

a. 97.5 × 102.5

b. (5)3 – (20)3 + (15)3
OR

Factorise (any 2)

a. (a2 – a)2 + 4(a2 – a) – 12

b. 3√5y2 – 7y – 2√5

c. 64z3 – 125y3
17. In the given figure, ray OC stands on a line AB, OP and OR bisects ∠AOC and ∠BOC respectively. Prove that ∠POQ is a right angle

18. Factorise
x3 – 7x + 6

19. Find the area of the quadrilateral whose sides are 9cm, 40cm, 28cm and 15cm respectively and the angle between first two sides is right angle. Calculate its area.

20. If a transversal intersects two parallel lines, prove that the bisectors of a pair of alternate angles will be parallel.

21. If the polynomials 2x3 + bx2 + 3x – 5 and x3 + x2 – 4x +b leave the same remainder when divided by x – 2, find the value of b.

OR

State and prove factor theorem.

22. Represent √27 on number line.

23. The area of a rectangular field is given by x2 + 5x – 14. Express the possible dimensions of the field as linear polynomials.

24. Express 
1
 with a rational denominator.

√6 – √5 – √11

25. Find x, y, z

SECTION D
26. Simplify

a.     √6     +     3√2   –    4√3     .

√2 + √3   √6 + √3   √6 + √2

b.     7√3     –     2√5   –     3√2        .

√10 + √3   √6 + √5   √15 + 3√2

27. In ∆ABC, the bisectors of ∠B and ∠C meet at O. If ∠ BOC  = 115°, find ∠A

OR

If ax3 + bx2 + x –6 has x + 2 as factor and leaves remainder 4 when divided by x – 2. Find the values of a and b.

28. Perimeter of a rhombus is 100 cm and one of its diagonal is 40cm. Find the length of its other diagonal and its area.

OR

A field is in the shape of a trapezium whose parallel sides are 32 cm and 20 cm and non–parallel sides are 17 cm and 25 cm. Find the area of the trapezium.
29. In ∆ABC, the bisectors of ∠B and ∠C meet at O. If ∠ BOC  = 110°, find ∠A

OR

If ax3 + bx2 + x –6 has x + 2 as factor and leaves remainder 4 when divided by x – 2. Find the values of a and b.

30.  “If a transversal intersects two parallel lines, then each pair of interior angles on the same side the transversal are supplementary.” Prove.

Calculate the value of x.
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